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BEETHEIHBAME 14—y

| X M M % SCHIE R W E ﬂiéﬂ ﬂ% . ol 5
k&2 o pam s =} > =} > [ii]
FHHA BHEt | | fem | gz | RS REER ) OMER | oo
2t 0 342,940 | 145,937 | 147,800 [3,010,263 0 0| 60,000 |= A&t 3,706,940
1| R5.5.10|HiiES 7 L7 58 Ak GO 5y) RS R 17,981 JLHEC
2| R5.6.16[=t"— HHAS GL %)) S R S R S 14,640 JLHEC
3] _R5.7.19|dia 72 k08 5 HIBIN L 1 4y) Z 7 Z)V R 16,566 MNSE )
4] R5.4.26| H AREH BRI A 4 QL0 59) V8 i) | BIER 7 4,000 ANEE )
5| R5.5.26| H AR HTEIRGH 42 QL0 459) V8 i) | BIER 5 4,000 ANEE )
6] R5.6.26| H AREHEE{6H 5 GO 5) V8 ) B 7 4,000 ANEE )
7] R5.7.26| H AR HERTA > QL0 59) V8 i) | BIER 7 4,800 ANEE )
8] R5.8.26[ H AR HESH 4 GLO47) P R BIR 5E 5 4,800 LHFED
9] R5.9.24| H AR EERA 4 QL0 5y) P R BIR 5E )5 4,800 LHFED
10]  R5.8.7[Higs 72 X8 5-lAmkE UL 1 4y) R R 17,648 JLHEC
11| R5.9.14[F R GTO ) oS P R S E 12,674 NNEE )
12|  Rb.4.25[EHER4AH 59 CAKSD) RS T G 5 T 3,350 KA
13  R5.5.1|HisES 7" K020 5-1ERCE A KSY) 2T 4T AW 45,000 IR
14|  R5.5.1|mEES77 10205k Am Bl (A K5y (B R 119,779 Ik
15| R5.5.22 =z — R (A KSy) S P R S 13,270 I K
16| R5.5.28[#&=EHRIR6H 70 CAKS)) RS T 7 5 T 3,350 IR
17|  R5.6.27 (¥ R6 H 59 CAKS)) RS BT G 5 R 3,350 KA
18| R5.7.28[#=E B RIRTH 9 CAKS)) e B 7 5 R E IS 3,350 KA
19|  R5.7.31{ a2 X021 S1ERRE VA KSY) Z=T AT A 45,000 KA
20| R5.8.10[=v"—FHLIS (ACKSy) N ANERREEEAE 1,095 KA
21| R5.7.26| HrEtAR i EAF I SRR (A K)) SEEEF T - REARTH 22,560 DK
22| R5.8.27|#EHERS A 4y UK K5y) Ve B 7 5 R E IS 3,350 KA
23| Re.5.18| S k023 SR EF (5 k) R R 48,371 EECIES
24| R5.5.19| a7 k023 5EREE (8K %)) LR 57,000 [ERES
25 R5.7.26 et AR EATFE SR 228 (& K 5) SEREF T - REARTH 22,560 EECIES
26| R5.8.18|AREL/ S A A~ AFIIE S HE AR 228 (5 ok 4y) | IRy U R I BT e T 13,100 [ERES
27| Rs.8.28| @S k24 BEATEF (5 k4 R R 60,878 EECIES
28]  R5.9.1|mHaEEa 7 k24 5 1ERCEE (8K )) ERRNEEINGY 57,000 [ERES
29| R5.5.18| a7 kve6=ElAn kBl (FEH %)) R R 98,420 R (2 il
30|  Re.8.7| ST X0T R EATE (FEH %)) R R 93,849 R (2 il
31{ R5.7.26 | spAR I ENTSC SRR G 5Y) LR - REARTH 22,560 R £ gl
32| Re.4.7| N BT RE B (EH ) Microsoft 12,984 R HH £ gl
33| R5.5.16| a7 K052 5 VERE (A k 4)) BT AT 4= 106,260 FA 7k 3
34| R5.7.26| a7 K052 5 EATE (RA 7k 4)) VAT S I 18,931 Ak EH
35|  R5.9.6| a7 k053 EVERE (Fak4)) BT AT 4= 84,260 Ak EH
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| X M N % 5 A% b e T
= . & B | & F i
it 145,937 | 147,800 (3,010,263 0 = A&k 3,706,940
36| R5.9.12[ ek 72 L0653 Sk (Rask 57) VBT LS e — 18,898 HR K 7
37| R5.41G|WEEEREIS H 4y (R K 4Y) (AT A7 7 KA BT 3,350 a7k 28
38 R5.5. 9|/ B4 A 45 (RS K 4y) TR AT 7 IR 3T 3,350 A K 7 BH
39| R5.6.201E S RAG A 4y (1A K 4y) TR 72 AT 7 IR ST 3,350 A K 7 BH
40 R5.7.9|/2 5 B A6 A 45 (R K 43) AU AT 7 IR ST 3,350 A K 7 BH
41 R5.8.20|# T ERART A 45 (B Kk 4y) RS2 AT 7 IR 3T 3,350 A K 7 BH
42|  R5.9.10|/=2 B8 A 45 (B Ak 4y) TR 72 AT 7 IR ST 3,350 A K 7 BH
43|  R5.4.22|%0 B #HE4 A 4 (B k4 ASAVERE ket FB BV AR T 3,500 A7k ZZHH
44|  R5.5.30|5 B #HE5 A 4 (B k4 ASAVERE ket FB BV AR T 4,000 A7k ZZHH
45|  R5.6.25|5] B #HEE6 A 4 (B Kk 4y) ASAVERE ket FB BV AR T 4,000 A7k ZZHH
46| R5.7.22|80 B #HEATH 4 (B k4 ASAVERE ket FB BV AR T 4,000 A7k ZZHH
47| R5.8.26|5] B #HE8 H 4 (B Kk 4y) ASAVERE ke FB BV AR T 4,000 A7k ZZHH
48  R5.8.4|FViH— AL 7 (KA K SY) N 2NE A KA 5,280 KK &
49| R4.4.28| VU ARAA by (Ba7k5y) JAZDVE LSS FAJK ZEBH, 1/ 3845y
50 R5.5.26| 4V AR5 A 4y (RAK5y) JAZDVE LSS FAJK ZEBH, 1/ 3845y
51 R5.6.24| 5V A%6 H 4y (FA7K4y) JAZDVE LSS FAOK ZEBH, 1/ 3845y
52| R5.7.24| VUV ARTA 5y (RAK5Y) JAZDVE LSS AR ZEBH, 1/ 3845y
53| R5.8.31|# VU A8 H 4y (Fak%y) JASHVE HEISS K&, 1/ 385y
54| R5.9.20|7 VA9 H 4y (B k%) JASHVE H-E3SS K&, 1/ 385y
55|  R5.5.8| ek 72 L0563 SAEREL (I %) A ER 70,000 e
56| R5.5.19|iiakse7= k053 Bl ik (11 H 5y) (AN 143,859 (L] FH 2% — R
57| R5.8.4| T 72 L0564 S AERCEL (I I 53) A E 70,000 e
58] Rb5.8.4|HiaEs 2 k054l bk (L 4Y) B R 8,824 L1 F 25—
59| R5.7.26 Bt i R T8 S B 22 2 (1L B 47) G - pEAT L1 F 25—
60| R5.6.18|=t"— MR GO %) AN SCHERAE) 1 Bl 4,800 L ED
61| R5.8.12|HigS k8 E1ERE (T B 4Y) B ez A 15,000 LOED
62| R5.10.11|77A A% GTH%Y) AHS ST IR 5,815 LA ED
63] R5.11.24| a2 k09 5E Akl (1 11 4y) (RS R4 144,835 ITAED
64| R5.11.30] V= AR G4y T TR et 39,900 T O 601 /21585y
65| R5.12.7[7~ L — A% GO %)) B R R A S 3,590 AN
66| R5.9.26| B HTERIA 4y UL K5y) VeSS B 7 5 R 8 IS 3,350 KA
67| R5.10.24| a2 K022 B VEREE (A KSY) 2=T 4T YA 45,000 IR
68| R5.10.24| g7 k022 B Akl (A KSy) (R R 146,758 DK B
69| R5.10.24|E 1% (A K5Y) S R S R S 14,074 KA
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| < M N % 5 FE TR E R 0T i %
7L [ = > = > H
FAH BHEt | | fem | gz | RS REER ) OMER | oo
i 0 342,940 |145,937 | 147,800 (3,010,263 0 0 | 60,000 |= & &t 3,706,940

70| R5.10.26| 7V —A L 74 (A KAY) T AT LR T 4— 5,397 I,
71| R5.10.11| B2 H B (AK5Y) — LR AR R 4,200 S 330
72| R5.10.26 | BIAR10H 99 CAKSY) PR TR v 5 I 3,350 Ik
73| R5.11.26 | B LH 59 CAKSY) PR TR v 5 I 3,350 DK
74| R5.12.26 | B2 H 599 CAKSD) PR TR v 5 IR 3,350 Ik
75| R5.11.22| s> 72 k025 SE AR (& 7Kk 45)) RS R 63,140 =R CIES
76] R5.11.29|fiakex7= 5025 BAERCEE (5 Kk 5)) 7 LA 57,000 [ERSEES
77] R5.12.8| ek 7 JV8S-Fi A kL (K H14)) (PR e 142,332 R A {2 i
78| R5.10.24| gk 72 k055 S ElAiEr (L F45y) R R 8 168,946 L1 F 35— B
79| R5.11.6[iaesx72 K055 S AERKE (L H S B ER 70,000 M
80| R5.10.28| fi=>72 k09 =HIRI (L. 11 4)) T ARG AR 18,124 AN
81| R5.12.30| =72 k09 = 1EREr GT. 11 4)) B IXZEZADIF 21,000 ILHED
82|  R6.2.1|Hia72 k010 5-1ERE GT. A %)) B XA DIE 30,000 LHEC
83|  R6.2.5|Hia72 k0105 FIRIS GL A %)) Z 9 Z)VER R4 34,728 ILHED
84| R6.2.21|HaES7 0105k AE T H4Y) (R R 154,278 ILHED
85| R5.11.15|%v by —sfetgayriiszsy Aok, @k, irn, sy | T -G X 239,600 Sk, K LA,
86| R6.1.27|[#EHER1A 4y UK K5y) RS T 7 5 T 3,350 IR
87|  R6.2.5| S K023 BAERE A KSY) =T 4T AR 45,000 DK
88| R6.2.28|#EHER2 A 4y UK K5y) Ve B 7 5 R E IS 3,350 KA
89  R6.3.4| s k027 BEiATBE (5 Kk 4y) R R 87,434 ERES
90|  R6.3.6| g2 k027 5 EREL (F K 5y) 7 (LB 121,000 [ERIES
91 R6.2.20| 72 K09 =R A Bk GEEH 4Y) R R 119,748 FHE [ £ i
92|  R6.3.5| 7V H—AL 7 K OEHE (B 4y) 7 AT IV 27,058 iR HH £E gl
93| R5.12.5| a7 K054 5 1ERCE (RA K %) BT AT 4= 106,260 Fa 7k 2
94| R6.1.11|HES7 k0545 B Ak (FA K 4Y) VR TS S — N o — 18,799 FATK 7
95| R6.2.19| i7" k055 5 1ERCE (RA K %) BT AT 4= 106,260 Fa 7k 2
96| R5.9.25|5] H #E{R9 A 5 (azksy) ASAERE R e F AT ST 4,000 A7k EH
97| R5.10.23| 5 B #1055 (Fak 45) ASAYE T S A L AE T 4,000 Tk W
98| R5.11.23| 5 B #1155 (Fak 4y) ASAYE T S 1 A U AE T 4,000 Tk W
99| R5.12.23| 5 B #HE12 H 45 (Fak 45) ASAYE BT e AT L AE T 4,000 ok E W
100{ R6.1.23| 50 B #E1H 5 (R ak4y) ASAYE BT e 1 AT L AE T 4,000 Fa ok W
101 R6.2.23|50 B @2 H 5 (ke sk4y) ASAYE BT e AT L AE T 4,000 ok W
102|  R5.10.8 #2589 H 70 (Ra 7k 57) (TS A7 7 KRR ST 3,350 Tk B
103] R5.11. 19258 AR 10 A 43 (B K 43) VBT 7 A7 7 KT T 3,350 KAk ERH
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g < M N % 5 FE TR E R o i %
k&2 7L [ = > = > [ii]
FHHA BHEt | | fem | gz | RS REER ) OMER | oo
i 0 342,940 |145,937 | 147,800 (3,010,263 0 0 | 60,000 |= & &t 3,706,940

104 Rb5.12.9\# 8B 11LA 4 (13K 4y) ARRA S AT 7 IR 3T 3,350 A K 7 BH
105 R6.1.8| 2R 12.8 4y (B 7k 4y) ARRA S AT 7 IR ST 3,350 A K 7 BH
106 R6.2.10\#8 8BS A 4 Bk 4y) TR AT 7 IR 3T 3,350 A K 7 BH
107] R5.10.31[H 7V A%10 8 4 (BA K 4Y) JAZDVE LSS 5,000 |#A K7, 1/38% 5y
108] R5.11.26[ 4V AR%11 A 4y (FAK4y) JAZDVE LSS 5,000 |#A K7, 1/38% 5y
109] R5.12.28[ 47V AR12 A 4y (RAK4y) JAZDVE LSS 5,000 |#A K7, 1/34% 5y
110] R6.1.27|H VU ARLA 5 (Bak4y) JAZDVE LSS 5,000 |#A K7, 1/38% 5y
111] R6.2.26| VU A2 H 4y (BA 7k 5y) JASHYE 1SS 5,000 [#A7k ZEH,1/38% 5y
112]  R6.3.14| VA3 H 4y (BA 7k 5y) JASHYE /SS 5,000 [#A7Kk ZEH,1/38% 5y
113]  R6.2.7|HisE S k056 S EAmE (L H5Y) R R 8 11,457 M T
114  R6.2.7| a2 8056 5-ERCE (L H4) =Gl 70,000 1L 2R ES






